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1. W f N2 JeRE IEBHIR w, v AN E, H u=—ov, % = —%
2. l‘[‘ﬁ{ﬁ%"ﬁ

(1) fla,y) =z +y+~/2% + 92, K f1(3,4), £;(0,1),

(2) f(z,y,2) = (cosz/siny)e*, K (w, F,log3) ALHI—Firf T2,

(3) flz,y) = sin(z?y), K (1,1) LKW FEL.

3. K FI R H— B 5
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(1) z:xy—i-g, (2) z:tan%, (3) z = cos(x? + y?),

(4) z=logla + 35), (5) z=a%%  (6) = =2,

(7) z = arctan g, (8) z = ™WH¥EH2r 1 (9) 2 = log(z1 + T2 + -+ + Ty).
x

4. KB BR B —Br A B i 5 2
(1) 2%y, (2) logxy, (3) arcsin(a? + - -+ + x2),

(4) e’ (5) tan(arctanx + arctany), (6) em Yz

5. W 2z = f(ay), IEH] 22 = y 2.
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6. W u=e"cosy, v=e"siny, UEH
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g A= 25+ &, BWFI R? LI Laplace 57, MWL u, v ¥
IR

Au = uy, +uy, =0, Av=uvy, +uvy, =0.
e =[(z—20)? + (y — y0)? + (z — 20)?] 2, W
Ar~1 =0,
He, A4 R® 1) Laplace 57, Au = ul, +uj), + ul,.
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(1) o(t) = (acostsint,bsin®t, ccost), t = z,

(2) o(t) = (t,t2,13), t = to.
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(1) E(u,v) = (u,acosv,asinv), (u,v) = (uo, vo),
(2) z = 2% +y? (v,9,2) = (1,2,5),

(3) X(u,v) = (asinucosv,bsinusinv, ccosu), (u,v) = (ug,vo).
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